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 4فصل...................................................... ........ .................3رياضي پاسخ سئوالات موضوعي 

 1ي صفحه
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 4فصل...................................................... ........ .................3رياضي پاسخ سئوالات موضوعي 

 2ي صفحه
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 4فصل...................................................... ........ .................3رياضي پاسخ سئوالات موضوعي 

 3ي صفحه
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 4ي صفحه
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 5ي صفحه

8  

  مشتق تابع كسري: الف

2

2

13

1331332

)(

))(())((
)(

+−
+−−−+−−=′

x

xxxx
xf  

   تابعمشتق حاصل ضرب دو: ب 

3222 1515123 )()())(()( ++−+=′ xxxxxf  

9  

7
222

2

5

13

5

13253
8 ))(

)(

)()(
()(

+
−−

+
−−−+−=′

x

x

x

xxx
xf) الف  

352

5

+
=′

x
xf   ب  ()(

10  
2

13
2

1
3

)(

)(
)(

x

x
x

x
xf

+−
  الف (′=

6272
2

5527
1

5
1

))(()())(()( xxx
x

xx
x

xf   ب (′=−++×++

11  

)
)(

)(
)(()(

2

2

2

13

3132

13
5

−
−−

−
=′

x

xxx

x

x
xf) الف  

)())(()( 2331
232

3 23 +++
+

=′ xxx
x

xg) ب  

12  2

29
2

1
9

)(

)(
)(

x

x
x

x
xf

−−
  الف (′=

 )())()(())(()( 435223526 223 −−+−=′ xxxxxg) ب  

13  

)()()( 22125 42 +++=′ xxxxf) الف  

223

232

3
231

)(

))((
)(

+
+

−+
=′

x

x

x
x

xg) ب  
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 6ي صفحه
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 4فصل...................................................... ........ .................3رياضي پاسخ سئوالات موضوعي 

 7ي صفحه
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 8ي صفحه
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 9ي صفحه
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